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ST. LAWRENCE HIGH SCHOOL 

                  A JESUIT CHRISTIAN MINORITY INSTITUTION 

               WORK SHEET 21 SOLUTION 

 Sub: ENGLISH  ‘B’                                              Class: XII                                                        F. M :15 

 Topic : THE PROPOSAL                                                         Date:09.11.2020  

Multiple Choice Questions :                                                                                           1x15=15 

1.“Forgive us, Ivan Vassilevitch , we were all a little heated…..I remember now:…”. The speaker is— 

a.Chubukov                  b. Natalya                      c. Lomov                          d.Chubukov’s wife 

Ans:( b) Natalya. 

2. The most important thing for Lomov was his— 

a. moral principle         b. land                            c. money                          d. mannerism 

Ans: (a) moral principle. 

3. “I’m thinking of having a go”— the speaker here means— 

a. he wants to have a drink           b. he wants to propose to Natalya          c. he wants to go outside 

d. he is going to start shooting. 

Ans:(d) he is going to start shooting. 

4. The name of Lomov’s dog is— 

a.Mirnov                       b. Ivan                     c. Guess                                 d. Squeezer 

Ans: (c) Guess. 

5. Guess has gone— 

a. lame                           b. blind                   c. deaf                                    d. mad 

Ans: (a) lame. 

6. Lomov paid for Guess— 

a. 85 roubles                 b. 100 roubles         c. 110 roubles                        d. 125 roubles 

Ans:(d) 125 roubles. 

7. Natalya compares Guess with a worn-out— 

a. cab-horse                  b. race-horse            c. lame horse                         d. Arabian horse 

Ans:(a) cab-horse. 

8. The name of Natalya’s dog is—  

a. Squeezer                   b. Mirnov                 c. Ivan                                   d. Guess 

Ans: (a) Squeezer. 

9. The name of the person who has got the best sort of dogs in the locality is— 

a.Lomov                       b.Volchanetsky        c. Chubukov                          d.Natalya 

Ans: (b) Volchanetsky. 

10. ‘Overshot’ means— 

a. lower job is misplaced               b. upper jaw is weak                            c. teeth are weak 

d. lower jaw is shorter than the upper.  

Ans: (d) lower jaw is shorter than the upper. 

11. Squeezer’s parents were— 

a. Darness and Chisels        b. Harness and Chisels   c. Hansel and Gretel   d. Tom and Chisels 

Ans: (b) Harness and Chisels. 

12. What is the second argument over? 

a. dogs                         b.Oxen Meadows          c. gifts                             d. estates 
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Ans: (a) dogs. 

13. Why are Chubukov and Natalya concerned when Lomov  faints? 

a. because they want the marriage to take place and don’t want Lomov to die 

b. because there are no doctor’s close by 

c. because they worry about his health 

d. because they don’t want to be held responsible. 

Ans:(a) because they want the marriage to take place and don’t want Lomov to die. 

14.Why does Chubukov call for Champagne as the curtain comes down? 

a. to celebrate the occasion even if they are arguing 

b. because he normally drinks at that time of the day 

c. it is customary to offer champagne to guests 

d. he had the best champagne 

Ans: (a) to celebrate the occasion even if they are arguing. 

15. Why are the arguments funny? 

a. because Lomov and Natalya quickly lose sight of the marriage proposal 

b. because the story of Oxen Meadows is absurd 

c. because the hunting dogs are ridiculous 

d. because they seem funny while they argue 

Ans: (a) because Lomov and Natalya quickly lose sight of the marriage proposal. 
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